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Note : This paper contains FIFTY (50) multiple-choice questions, each question
carrying TWO (2) marks. Attempt All questions.

A8 ;L Wl wA (wo) sigRsedla uadl, w-ulg 2 Assl el As-dl
B, i Uil el @udiFl 8. UdAs usdl & () @ B,

1. In which case it was held by the 1 sy 3uui uala weldd wld 34

Supreme Court that Preamble is the 3 wu HaRe Ly ousL @ ?

basic feature of the Constitution ?
(A) Aas-e 3u
(A) Golaknath case

(B) -5l otigl In
(B) Maneka Gandhi case

(C) Swarna Singh case (©) aellis 3

(D) Keshavananda Bharti case @) 3uarie euadl 3

9. The word ‘armed rebellion’ was 2.  -a9e 343 Hi ‘wid(is Auawy’

substituted in place of ‘internal dql Ged ‘ANWL NGl G‘}.Ql’;_l', !

disturbance’ under Article 352 by :

(A) 3¢ Hi YL
(A) 39th Amendment

(B) ¥ Ml Yarl
(B} 42nd Amendment

(C) ¥¥ Hl IRl
(C) 44th Amendment

(D) 52nd Amendment (D) T HL YR
Law-I1 8 [P.T.0.]



Article 21-A mandates the state to
provide free and compulsory

education to children :

{A) below age of 7 years

(B) between 7 to 12 years

(C) between 6 to 14 years

(D) between 6 to 18 years

The Directive Principles are not
enforceable by any court ‘but none
the less the principle laid therein
are nevertheless fundamental in the

governance of the country’.

(A) Article 35

(B) Article 36

(C) Article 33

(D) Article 37

Law-I1
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The law declared by the Supreme
Court is binding on all courts within

the territory of India.
(A) Article 32
(B) Article 226
(C) Article 141
(D) Article 143

In event of the occurrence of
vacancies in the offices of both, the
President and the Vice-President of
India, who among the following

shall discharge the functions of the
President, till a new President is

elected ?

(A) Chief Justice of India
(B) Speaker of Lok Sabha
{(C) Prime Minister

(D) Senior most Governor

Law-II
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Which one of the constitutional
amendments accorded precedence to
the Directive Principles over

Fundamental Rights ?
" (A) Twenty-fourth
(B) Twenty-fifth

(C) Forty-second

(D) Forty-fourth

Who gave the idea of Lex

Aeterna ?

(A) Plato

(B) Aristotle

(C) Cicero

(D) St. Thomas Acquinas

“Rapists should be given death
penalty”—On which thedry this

statement is based ?
(A) Retributive Theory
(B) Deterrent Theory
(C) Preventive Theory

(D) Punitive Theory

Law-I1
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10.

11.

12.

‘The. life of law is not logic, but

experience’. This was said by :

(A) O.W. Holmes

(B} John Gray

(C) Hans Kelsen

(D) John Salmond

Which one of the following is not

an instance of subordinate

legislation ?

(A) Delegated legislation

(B) Municipal legislation

(C) Autonomous legislation
(D) Parliamentary legislation

Ownership of patents, copyrights

and trademarks is called :
(A) Vested ownership

(B) Contingent ownership
(C) Incorporeal ownership

(D) Corporeal ownership

Law-II
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13.

14.

When a debt is secured by a

mortgage the right in security given

by the mortgagor is a :

(A) Positive right

(B) Negative right

(C) Principal right

(D) Accessory right -

With which jurist would you

associate “law and social

engineering” 7

(A) Savigny

(B) HLA Hart

(C) Roscoe Pound

(D) Henry Maine
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15. Which of the following options

correctly explains the procedure of

admission of a new state under

Article 4 of the UN Charter ?

(A)

(B)

(C)

)

Law-II

Affirmative recommendation of
nine members of Security
Council, including that of 5

permanent members only

Election by 2/3 majority in the

General Assembly only

Election by simple mejority in
the General Assembly on the
recommendation of any 9
members of the Security

Council

Election by 2/3 majority in the
Generél Assembly on the
positive recommendation of 9
members of the Security
Council including 5 permanent

members

15. Y. A, Al 9% ¥ 2=l {1

U4 sul [AseU Aol AXAUAL HAL M2

GRA sidad] wnd ¢ ?

(A)

(B)

©

(8))

Acndl ARQAL A uedl gl
B5IAUAHS HAHEL ZHL Wi syl

AL AMLAIL 8iy

A aBfaAl yewlnl

ol—qdlaia olgHdl ¥A dl ¥

Aeindl AL na weuidl
MalHel Gu A ARl

el wgl opgudl wedd]

Al wB@nAL da wodi-d
é&t%tt;{ﬁ SR FUL sl win
AUl AHIAN Sl A A GuR
A~y ABFfasni yewlui
ol—qdluia ougudl xRl

(P.T.0.]



16. Which one of the following is not

17.

the objective of United Nations ?

(A) Maintenance of international

peace and security

(B) Ensuring respect for treaty

obligation

(C) Establishment of democratic
government throughout the

world

(D) Promotion of better standards

of life

International Court of Justice

consists of ;

(A) The President and 15 other

members

(B) The President, Vice-President

and 13 other members

(C) The President, Vice-President

and 15 other members

(D) The President, Vice-President

and 14 other members

Law-11
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18. The Universal Declaration of
Human Rights declares that all
human beings are :

(A) by nature equally free and
independent

(B) born free and rational

(C) born free and equal in work
and rights

(D) born free and equal in dignity
and rights

19. Which of the following is not
a source of International Law as
per Article 38(1) of the Statute
of ICJ ?

(A) Teachings of the publicists

(B) Judicial decisions

(C) General Assembly Resolutions

(D) International Customs
Law-II
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20. Who amongst the following was of

21.

the opinion that binding force of
International Law is based on a
fundamental principle known as

‘pacta sunt servanda’ ?
(A) Austin

(B) Kelsen

(C) Anzillati

(D) Hall

The Supreme Court in Sarala
Mudgal Vs. Union of India laid
down that on conversion of a Hindu

Husband to Islam ?
(A) He can have upto four wives

(B} His pre-conversion Hindu
Marriage will get dissolved if

he so wishes

(C) His pre-conversion Hindu
Marriage will get dissolved

automatically

()

He cannot marry again till his
pre-conversion Hindu
Marriage is dissolved as per

Hindu Law

Law-I1
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22. In Anil Kumar Jain Vs. Maya Jain,

recently the Supreme Court has
held that the requirement of six
months waiting period in cases of
divorce by mutual consent in Hindu

Law can be relaxed by :
(A) High Court only
(B) Supreme Court only

(C) High Court and Supreme

Court only

(D) Any Court

. Khula under the Muslim Law refers

to :
(A) divorce by mutual consent

(B) divorce initiated by wife and

accepted by husband

(C) A temporary marriage

(D)

an irregular marriage

Law-II
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24. Which of the following is not source 924

of Muslim Law ?

(A) Hadith

(B) Qiyas

(C) Ijma

(D) Fatwa

. Only the Hindu wife and not

husband can claim divorce on the
ground :
(A) Marriage was solemnized

prior to the attaining age of

15 years
(B) Adultery
(C) Change of religion

(D) Renunciation of world
by entering into religious

order

Law-II 14
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26. Marriage of a Hindu male to his

217.

wife’s daughter by a previous

husband is :

(A) Valid

(B) Voidable

(C) Void

(D) Void unless protected by

custom and usage

Mohori Bibee Vs. Dharmodas Ghosh

case deals with :

(A) contract by a person of unsound
mind

(B) fraudulent contract

(C) contract by a drunkard

(D) contract by a minor person

Law-I1
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28.

29.

Consideration for the contract
signifies :

(A) Equality in contracts

(B) Fairness in contract terms

(C) Valuation of the contract

(D) The bargain element in a

contract

A contracts to act in a theatre for
6 months in consideration of a sum
paid in advance by B. On several

occasions A is too ill to act.

{A) The contract to act on those

occasions becomes void

(B) The contract to act becomes

wholly void

(C) The contract to act on those

occasions becomes voidable

The contract to act on all

(D)

occasions becomes voidable

Law-I1
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30. Under Section 73 of the Indian

31.

(A)

(B)

(C)

(D)

. Contract Act :

Special damages cannot be

claimed

Special damages can be
claimed if the party breaking
the contract is made known of
the special circumstances at
any time

Special damages can be
claimed if the party breaking
the contract is made known of

the special circumstances at the

time of contract

Special damages can be

claimed

Which one of the following pairs is

correctly matched ?

(A)

(B)

(C)

(D)

Law-II

Section 56—Agreement in

restraint of marriage

Section 55—Frustration of

contract

Section 29—Agreements void

for uncertainty

Section 16—consent by

coercion
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32. A sells, by auction, to B, a horse

which A knows to be unsound.

Which one of the following

situations amounts to fraud ?

(A)

(B)

©)

(D)

Lav-I1

A remains silent and says
nothing to B about the horse’s

unsoundness

B is A’s daughter and has just
come of age and A remains
silent and says nothing to B

about the horse’s unsoundness

A has private information of a
change in prices of horses in
the market which, if told to B,
would affect B's willigness to
proceed with the contract. A

remains silent

On A being asked by B about
horse’s health, A replied “You
may bring in your expert to

examine the horse”

18
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33.

34.

Qui facit per alium facit per se
means :

(A) he who acts through another
is deemed to have acted
himself

(B)
©

to act independently

there is no right without a
remedy

(D) damage suffered without
violation of right is not

aci:ionable

On a rainy and windy day a live
wire snapped from an electric pole.
Raj Kumar did not notice the wire
and rode his bicycle over the wire.
He got electrocuted and died. His
widow brought an action for
damages against the electricity
board.

(A) Board is not liable as wire
snapped due to act of God

(B)
. contributory negligence on the
part of Raj Kumar

Board is not liable as there is

Board is not liable as it has

statutory duty to supply

(C)

electricity

(D) Board is liable as there is

forseeable risk inherent in the
very nature of such activity

Law-II
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35. A and B blocked the waste pipes of 35 A %3 B QadRi--1 WU oiy 530

36.

a wash basin, which was otherwise
in the control of C, and opened the
tap. The overflowing water damaged
I¥s goods kept in the adjoining
premises. C can take the defence

of :

(A) Volenti non fit injuria
(B) Remoteness of damages
(C) Act of third party

(D) Statutory authority

Which of the following defences is

available in tort of negligence ?
(A) Contributory negligence
(B) Statutory authority

(C) Act of God

(D) Volenti non fit injuria

Law-11
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37. Principle : No person can sue for

a tort to which he had consented
either expressly or impliedly.
However, rescue

cases are

exceptions.

Facts : A short distance from X’s
house, there was a railway collision
due to the negligence of railway
authority. X voluntarily took an
active part in rescue oprations at the
scene of the accident. As a result,
he suffered prolonged anxiety and
neurosis. He claimed damages from

the railway authority.

(A) X will not succeed as he went
to the scene of accident

voluntarily

(B) X will not succeed as railway
authority was not negligent
towards him

(C) X will not succeed as railway
authority could not forsee any

harm to him

D) X being a rescuer, railway
authority owed a duty towards
him also and is liable to

compensate him

Law-II
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38. ‘A’ who was about to compete in a
car rally, asked his friend, B, to drive
A’s car from Vadodara
Ahmedabad so as to meet A there
at end of the rally. B was to bring
in the car a suitcase for A, and after
the rally, they were both to take the
car and go to Gandhinagar. B
departed from Vadodara but, before
reaching Ahmedabad, negligently
collided with C’s car which was

damaged. C claimed damages from

A and B.

(A) Only A can be held liable as

he is the owner of the car

(B) Only B can be held liable as

he was driving the car

(C) neither A nor B can be held

liable

(D) both A and B can be held liable

as B was using the car for A’s

purpose
Law-1II
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39.

40.

41.

An offence basically in a law :
(A) act punishable

(B) anti-social act

(C) act defined as a crime
(D) wrong

A six-year old child pushes a
labourer working on the roof top, the

Labourer dies as a result.
(A) The child is guilty of murder

(B) The child is guilty of culpable

homicide
(C) The child is guilty of assault
(D) The child is innocent

“A” is carrying coins for melting.

State whether :
{A) He has committed a crime
(B) He has attempted a crime

(C) He has made a preparation for

committing a crime

(D) He has committed a tort

Law-II
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42.

43.

Which of the following is not an

offence against women ?

(A) Rape

(B) Molestation

(C) Not allowing women to enter

Hanuman Mandir

(D) Dowry death

The
homicide and murder in the weakest
point of the Indian Penal Code. The

statement was made by :

difference between culpable

(A) Dr. H.S. Gaur

(B) James Fitz Stephen
(C) Granville Williams
(D) Kenny

“A” makes an attempt to pick the
pocket of “B” by thrusting his hand
into B’s pocket. A fails in the attempt

as B’s pocket was empty.
(A) A 1s not guilty of any offence

(B) A is guilty of attempt to

commit theft

(C) A is guitly of theft

(D) None of the above
Law-I1
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45. Which of the following statements

is true ?
(A) All Government departments

are industry

(B) No Government department is

industry

(C) Government department
carrying on business or trade

may be industry

(D) Government department
carrying on only sovereign

functions may be industry
46. There can be lay-off for ............. .
(A) One day
(B) More than one day
(C) Maximum seven days

(D) Any period even less than one

day
Law-II 25
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47. Choose the correct option : 47.

(A) Workman : includes a person
who 1is employed in a

managerial capacity

(B} Lock-out : means the
temporary closing of a place of

employment

(C) Retrenchment : does include

voluntary retirement

(D} Industry : a club rendering
services to its members is not

an industry

48.

48. Right to strike is a .................. .

(A) Legal Right

(B) Constitutional Right

(C) Equitable Right

(D) Is not a Right
Law-11 26
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49. Permanent closing down of a part = 49, siu-l—@A-L £S5 opa sl Ud

of place of work is called ........... . (281) oig sl siotdd .......
(A) Lay-off sl d .
(B} Retrenchment (A) A-lls
{C) Closure
(B) w92l
(D) Lock-out .
{(C) sdlXR

50. Which of the following statements

(D) ais-2uG2
is not correct ?

50. -lA-u U4l sy [Qaui wy Al ?
(A) In lock-out, a place of

employment is permanently (A) dlousidldi, sl @a sl
closed oj, s 20d
(B) Lay-off is not concerned with (B) A-2157 S1MELR dsUL A1 Aoely

labour disputes
P 2l

(C) Closure is generally for trade L |
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(D) In strike, there shall be
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